[N of associated tracks (simToReco) vs dxy(PV) |

[N of simulated tracks vs dxy(PV) ]

TP dz(PV) (cm)

TP dz(PV) (cm)

4 =3
—_— —
S Ch S —
fy’ <)
> oS
o2 Ng
= 5 :
o M M )
= © S Se R °
= e — g
L0 3 S
2 H
o 3 =Ho 3 o
3 3
i £ £
o
=} £ — £ 0
B =] A | o2 :
1 P v S
-4 g o
1 = I =
IS4 2 ) 3
B k] k] —
5 5
Lo 2 o a
e 8 0 @
° z = s 3
Sd.1 pajonnsuodey oney LJ sdl payonisuodsy L
&5 — 8=
m — : : m -
.......... o 9 — . :
Q] == : : =
3 — . T, P S I <
B . . S e Q
3 : : t N
o 5 2 : : n ° 0
S 8
— P B I T ———— —— (o S YO S R [ D B o o
o 2 3 k : t > =1
= o - . . _
LD cdc . .
25 | : - S|
o [ESEE 8 [ PO T T, A T e == o g o
2252 N : o N
o [5275 2 © : : El
1 o) W . W
el el . o
o [ChToH E] B EEERT R qeeeees REEEEr IREREST P BT —~ B o
— [sss>s O] . ! o =]
I [ooo9 @ 8 -
L0 (ajfayayal = =
— o =
| | 2 8
g [HHH : :
- N E S —
? £ £
o B £ E
= i @ 2 o
! b ° o (=) =] > >
A © = = = — — Ef o
sa|oiuedbupioel oney L sspoiuedbunioel ) oney L] sajnuedbupioel ) oney L] sejpnredbupioe.) oney




	Contents
	Page 1


